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General Instructions:
| 1. Answer any four (4) questions
2. Write your matriculation number in the space provided
3. Credit will be given for good English, legibility and orderly presentation
4. All four questions carry 15 marks each
'”“')\Jo horrowing of calculators, rulers, pencil, erazer, graph paper or just anything.
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The following table details the major activities in a project.
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3 Draw the network and show activity times, earliest times to start and earliest times to finish. 9 marks
b. Bold the line that makes up the critical path on the network diagram. 3 marks
c. Explain the implication of the critical path. 3 marks

QUESTION 2.
A tailor has the following supply of materials to ma

ke French suits and American suits: 160 square metres

of cotton, 110 square metres of silk and 150 square metres of wool.

A French suit requires the following: 2 square metr

es of cotton and 1 square metre of silk and one square

metre of wool. As well, an American suit requires 1 square metre of cotton, 2 square metres of silk and 3

square metres of wool.

If the gross profit realized from a French suit and an American suit is N150 and N200 respectively, how

many of each type of suit <hould the tailor make to maximize profit? Show all your steps.

marks.

QUESTION 3.
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A company manufactures a product in three factories, F1, F2 and F3. The three factories ship units of this

product to four warehouses, W1, W2, W3 and W4.

The demand at each warehouse, the supply / capacity

of each factory and the transportation cost per unit (in naira) of the product from cach factory to each

warehouse are tabulated below.

Warehouse Totals
W1 WZ W3 W4 R —
Fi [ 4 8 7 5 2,000
Factories F; | 3 8 3 4 1,700
3 F3 | 4 9 7 4 1,400
Totals 1000 800 2100 1200 5,100
2. Solve this transportation problem using the North West-Corner method. 8 marks

b. Conduct the optimality test via the Modified Distribution (MODI) method. 7 marks



QUESTION 4.

a. What are the objectives of queue theory? 3 marks

b. Explain the characteristics of the three components of a queue system. 6 marks
C.  You are given the following summary information:

Arrival rate (A) = 12 per hour

Service rate (S) = 15 per hour

Service times are random

i. Calculate the probability of no queue. 2 marks
ii. Calculate the number of people on the queue 2 marks
iii. Calculate the number of people in the system 2 marks

QUESTION 5.
mEprain any five major assumptions of games theory. 3 marks
n. Explain and distinguish clearly between a pure strategy game and a mixed strategy game. 6 marks
c. Solve for the value of the following mixed strategy game. 6 marks
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QUESTION 6.
a. Explain the three types of decision-making environments. 4 marks
b. Given the following table, determine which investment alternative is more beneficial. 6 marks
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J,fjvestment alternatives

States of nature

Econamic boom

Economic depression

Ordinary share

it110 million

#60 million

: Preference share

#90 million

i Debenture

#70 million

#R0 million

#50 million

'\mi;rior p-rai)abilities

0.45
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c. Explain each of the five decision making criteria under uncertainty. 5 marks.



